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Introduction to Financial Accounting 2
Double Entry bookkeeping and Accounting System 6 %

|AS and |FRS 10 skokskskok
Basic and Consolidated Financial Statement 10 dekokokok
Interpretation of Financial Statement 2 bt
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Exam Format

F3 - Financial Accounting
Section A

+ Contains 35 OT questions

- Each question worth 2 marks (70 marks in total) H.
Section B o —fRE, FTTASSEIRFENE ERDEE40TH
- Contains 2 MTQs B8] 5 Al AR .
« Each question worth 15 marks (30 marks in total) . ERMETESHESSEE, fEF—E5EEN
AllL questions within each section are compulsory. B EH G AR, ZERAEF/, RNz CEFRZ
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MTQ Format

An MTQ may contain:

/\ﬁiEE %%Eéi . A single part
Gapfill SR

Gapfill only

- Multiple parts containing any
of the following:

SAFE L RS Multiple Choice

WiRLEFMo T \

Multiple Response

Multiple Response Matching

Number Entry
Gapfill

Hotspot

- — - ®

Ouestion 17 15 marks 1a3ar th Lam Povprore _-...‘. FIFinsncisl Accounting -
! = Eackpround

Mainighe. o imited Sabdkty company, has an accounting year end of 31 October. The 9ccountant is prepanng the
financial statements as at 31 October 20X7 and requires your assistance

+ Task 1
+ Task 2
+ Task 3
= Task4
Closing imventory has been counted and is valued at $75,000

Iqnocing the depreciation charge calculated eartior, what is the Cost of sales for e yoar?

3

= Task 5

An invoico of §15,.000 for energy costs relating to th quarter ended 30 November 20X7 was recaived on 2
Decermber 2047, Endrgy COBS ae Inchuded in SETHNISt aive expenses

Complete the fcllowing statemenn:

The Coubie artry 10 POSt the yedr ond adusiment for ensrgy Costs IS
o3
o3
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] ] You are required to choose one answer from
MUltlplE Choice a list of options by clicking on the
appropriate radio button

i
L
i

. You are required to select more than one
MULtlpl.E Response response from the options provided by

clicking the appropriate tick boxes

N
X
S

You are required to select a response to a

‘ MULtlpl.E’ RESpUnSE‘ number of related statements by clicking on 42
Matching the radio button which corresponds to the > gl}ﬁlﬁj::FEE
appropriate response for each statement
- Number Ent You are required to key in a numerical R Sy
ry response to the question " igéﬁ%
You are required to enter answers into 1IHZSEn
. > J\
Ga pﬁ [L blank answer areas RTRE
. Hotspot You are required to choose one or more
answers by clicking on the appropriate > ,\‘\ll"'_"_l\\ij&]:ﬁﬁ

hotspot area/areas on an image
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Question Types

€) Multiple Choice \ A 4 2
> NFTBISIRrhEE— N ERE

A company uses an overhead absorption rate of $3.50 per machine hour, based on 32,000

budgeted machine hours for the period. During the same period the actual overhead > SaEHn .

expenditure amounted to $108 875 and 30,000 machine hours were recorded on actual hid A JEIN

eodacbon ¢ Z:ﬂE S5
= )

By how much was the total overhead under or over absorbed for the period? o XSRS EHD

" Over absorbed by $3,875
" Over absorbed by $7,000
" Under absorbed by $3,875
" Under absorbed by $7,000
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e - Multiple Response

Select TWO ways in which Kinn could overcome the problems caused by the restriction in material supply.

[" Seek alternative sources of supply
[" Seek cheaper sources of supplies
[ Consider the most efficent use of the material

[ Consider the most efficient ordering policy

/ In Section B MTQs
In Section A OTs
> MATBIEIIPIEE— N LN EREER |
> MRETBEIPIEE— PN/ NN ERESE | [ERERN B EHS S,
[FRERN R E SR,
> S -
> S - - MEELED
NMEETED o BN ERIREIRR B ERTED
NI Z B E K TTIE D o BIPMHEREIRBEK , HPiEXTHIE

(HA—MNENEE TS D IRaJ{845 ( partial marking )
JEIUER B A5 B B EKeE5 w7 « IEINIERRB AR B B EREEEHD
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e - Multiple Response Matching

Select the best form of communication method for each of the following objectives

Conference FT“G:EE:;’W Report Motice board

Generate new ideas 0 C 9] 0]
Reach large audience over a wide area o O 0 0
Explain complex facls and arguments 0 O O O
Transmit information cheaply 1o a large O O O O
number of people \

In Sectic/>_n A/_OTs\ e In Section B MTQs

~ IFEE—IRE  FHRS—{THRRRER— > (FEE—TAER , HEESTHRRENEE—NER

| |=|=I§<
> BoEN
> SN - MEELED
MEELBD .

e PPN BIFHEEINRIERRTE18% ( partial marking )
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o « Number Entry

Ruth started trading a year ago. She sells her products at a mark-up of 30%. In the first
year of trading, she bought goods for $25,800. Her sales in the year were $30,888.

What is the value of Ruth's closing inventory?

st
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K‘Leiwick ?o afcqui;gtd ?IU% oﬁf}lr:(e she_m:: Eapita(ljog Derw.rfnct5 C;:u th1 June Eﬂjzu?e sun;man’s;dl draft > ﬁﬂ-ﬁgﬁsect“)n BEP{E&% ig_
statements of profitof loss for Keswick Co and Derwent Co forthe year end 20x8 are shown below. N
RAERIREI |, BUEIMTQsRR
Keswick € o] G — LN\
e, e HE—&E7
Revenue 8.400 3,200
less: Cost of sales 4 800 1,700
Gross profit 2,800 1,500 > %ﬁ*mmu :
less: Distribubon costs 1,500 510 /B/\
M:-un istr aﬂwnc osts 700 450 * K‘?%%1ﬁﬂ
Profit before tax 1,600 540 ° =z :H:n Al H VI=CAS
less: Tax 600 140 = %Ej@ﬁ%ﬁéﬁ?\
Profit for the year 1,000 400 ® %Xjﬁﬁ2j1ﬁ;ﬁﬂ

During the year Keswick Co sold goods costing $1,000,000 to Derwent Co for $1,500,000. At 31 May
20x8, 30% ofthese goods remained in Demvent Co's inventory.

Usze the information above to complete the following financial statement:

I J |

Revenue

Cost of sales
Grogs proht

Distnibution costs

Ll

Administrative Costs
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Question Types

o » Hotspot (MTQ only) /

Francis ple. uses contral charts to help with investigation of variances. The following shows a
variance control chart for direct labour variances. Actual costs are plotted on the diagram as a
percentage of standard costs as they occur.

\Where is the least favourable variance on the above graph?
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